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GEOGRAPHY

Paper III

|
Time Allowed : 25 Hours] [Maximum Marks : 150

Note .— This paper consists Seventy five (75) multiple choice guestions,
Each question carries two (2) marks. Attempt All questions,
1. Which of the following is not correct ?
(A) Crust is the outer thin layer of Earth
(B} It forms 0.5 percent of Earth volume
(C} It is composed of nickel and iron (nife)
(D) The outer covering of the crust is of sedimentary material

2. Which of the following is not correet ?

(A)' Gaseous Hypothesis ~ Emanuel Kant

(B) Nebular theory ~— George De Buifon

(C) Planetesimal Hypothesis — Chamberlain—Moulton
(I3} Tidal Hypothesis — Jeans and Jeffreys

3. Which of the following is correct for igneous rocks ?
(A) It ig called non-primary rocks
(B) It contains fossils
(C) Shale and dolomite are examples
(D) Messa and Butte are basaltic igneous rocks
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4, The elastic rebound theory deais with :
(A} Distribution of oceans and continents
{B) Mountsin building
{C) Folding and faulting
{D) Earthquakes

5. Relative Relief Method of Slope Analysis was given by :

(A) Wentworth (B) Smith
{C) Raisz and Henry - (I3} A. H. Rebinson
B. Which of the following is the mast likely downstream consequence of dam

construction 7

(A) Increaaed wvariability of dischargé
(B) Enhanced sediment transport

(C)  Increased flooding

(D) Increased erosion

~3

Whoe said that landforms are the function of the structure, process and

stage 7
(A)  Strabler (B} Davis
(©) Pratt | Dy Airy

TRC-134/KT- 111 4



(D) %{q';u'
5 o frvoww @ fidy e fafy fawd go 4 w7
(A} az%sﬁ {:B) fe.w'
(C) ¥ I M T . U
6. ﬁmmﬁammummm%mwnﬁmmuw
% 7 |
(A) T wga F ofEdsiem & Ag
(B)'mﬁwﬁ'mﬁqf;
() mﬁqﬁ,
(D) REd H 9
¢ .fmﬁmmf%wmmﬁmgwﬁm,m@-mwm%?
(A) IR (B) @:«‘m

() W= - o Tl
 PR.T.0.

on

TRC-13/14/ET-TII



8. Which of the following is rwt'correct ?
(A) Oxbow lakes are depositional landforms of river
(B) Terra Rossa are erosional landforms of Karst region
(C) Deflation basin are erosional landforms of coastal.region
(D) Badland topography is flavial desert landform

0. Who developed the concept of ‘dynamic equilibrium’ in landscape

development 7

(A) ‘W.M. Davies ) (B')‘ G.K. Gilbert

{C) James Huttc'm ' (D) J.W. Powell
10.  Most of the rainfall in India iz due to : |

(A) | The retreéting South-West Monsoon

(B) Western Disturbance ;

(C) The South-West Monsoon

(D) Cyclones'of Bay of Bengal

11.  The suspended solid particles of dust, sea salt, sand, carbon compounds due

to consumption of fossil fuels is known as :
(A} Smog : (B} Photo-chemical smog

(CY Chemical waste | (D) Aerosols
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12, In which climatic region are the bm{ad leaf trees most common ?
'IA) l\'f;)ﬁntainou’s region
{B) Hot and humid region
(C) Cold and dry region - .
() Cold and humid region

13.  Acid rain will happen when atmosphere is"heavi]y polluted with :
(A) Aerosol ' | ~ (B) Smoke
€ S0, N0, - D €O, Co, |

14,  Which of the folldwing theories of ocean basins is not based on

| contraction ?

(A) Tetrighjvdi"al theory (B) Geosyncline t-hcorj;f |
(C} Pentagon theory (D) Continental drift theory

15.  Circum-pacific belt or Ring'.of Fire i3 !
(A)  Volcanic belt
(B) Seismic belt
(C) Convergence plate boundary

(D) All of the above
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16. Which one of the statements is not correct ?
(A} Reflects radio waves back to earth from Inosphere

(B) There is a positive relationship between the atmospheric temperature

and pressure s
(C) Contains most of the ozone in Stratosphere
() Temperature falls with height in Troposphere
17. What is the meaning of second letter ‘f in Koppen's Climapic Classification ?
(A) Seasonal Rainfall (B) Raining winter climate
(C) Dry climate (D) Year round rainfall
18. Sub-marine canyons are found (extended) on :
(A) Continental shelf (é) Continental slope
(&) Abyssal_ plain _ (]5). All of these
19, Islan;i Festoons and Arcs are largely found in pacific ocean because :
(A) Pacific realm is an active tectonic zone
'(B) Pacific realm is convergence boundary ;

(C) Pacific realm is a zone of subduction and voleanic belt

(D) All of the above
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20. Congervation of wetlands is related to :
(A) Rio Declaration
(B) Stockholm D'eclar.ation
(C) Vienna Convention
(D) Ramsar Convention
21.  Which Onel I8 not an,equatoﬁal forest ?
(A) Mackanzie River Forest (B) . Amazon River Fore.st
(C) Zaire River i“o'rest | (D) Java Forest -
22, Hazards in mountain ecosystem are :.
(A) Landslides and Rockfalls
(B) Ayalanche and Flash floods
(C) bloud burst
(D) All of the above
23. - Who called Geograﬁhy as Idiographic science 7
(A) Kant (B) Semple
(C) Ratzel | ' (D) Hartshorne
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28.

Who of the following is not associated with American School of Geography *
(A) W.M. Davis (B) Isaiah Bowman
(C) AP. Brighm (D) F.V. Richthofen

“Geography as the study of areal differentiation” concept was developed

by :
{A) Humboldt (B) Taylor
(C) Stamp (D) Hén'tshorne

Who of the following i; the author of “Géography of Puranaé’-’ 7
(A) Al-Idrisi (B) Al-Masudi

(C) Sabir Al | (I3 S.M. Ali

Humboldt’s “Cosmos” was published in :

(A) 1830 ~ (B) 1835

©) 1840 . (D) 1845

Who propounded the “Organic Theory of State and Bociety” ?

(A) Huntington _ (B) Hettner

(C) Ratzel (D) Sauer
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'29.  The Landschafts Kunde concept was given by :
(A) Houshofer
(13) Huntington
(C} Hotitner *
(D) None of the above |
A0.  Vidal De La Blache was a/an :
(A) German Geographer
{B) Italian Ge(.')graph:er

{C} Russian Geographer

(I} French Geographer

31.  Which river basin has maximum urban population ?
(A} Mississipi (B} Denube
(C) Young-tse-Keong (D). Ganga

32.  Among the following which {:ountry has maximum population ?
tA} Russia ' (B) Japan
{C) Nigeria {D} Mexico
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33.

34.

36.

(i)  Positive check of population

(#{) Preventive check of populatibn

(#iz) Homosexuality

(zv) Without marriége or late marriage

The above statements belong to :

(A) Spencer (B) Karl Marx
(C) Malthus (D) Decastro
“Social capital is a key component to building and nuaintaininé democracy”
The above stato;nent belongs to :

(A} Robert Putnam (B) Karl Marx
(C) Herbert Spencer (D) Edwin Kenin

Which of the follewing is not a criterion of division between izrbar_n and rural

settlements ?

(A) Locatién | (B) Economie activity
(C) Population size ' _ (D) Population density
‘Central Place’ word was first used hy : |

(A) Walter Christaller (B) Aurback

(C) Mark Jefferson (D) J. Gottman
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37.

38.

39.

40.

Which one of the following is not a pattern of rural settlements ?
(A) Rectangular _ fB) Linear
(C) Nebular . (D) Dis perséd

-~

What is the contribution of E.W. Burges in urban land use structure

model ?

(A) Multi-nuelei model

(B) C.B.D. model -

(C) Sectoral model

(D) Concentric cone model

Hevia, Baleta and Krestilova are the species of :

(&) Coffee ) (B) Rubber

(€) Cotton (D) Grapes

Meaéaixi, Gojebik, Cu'yuna afxd Margwett are major iron-ore mines in ;

(A) Australia | (B} Brazil

(C) U.S.A. _ (D) Germany
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41.

42.

43.

44.

Which one is not correctly matched ?

(A) Steel and Automobile ~ — Detroit
(B) Cosmetics — Los Angeles
(C} Shipyards o New Orleans

(D)} Textiles S Garry

Veeticulture is not found in :
‘(A) Perth s (B) Cape Town

{C) New.York {I?). San Francisco

Von Thunen model of agricultural system is based on :

(A) Germany : (B) France

(y UK : | (D) Spain

‘Weber's model of industrial location is nnot based on :

(A) DMinimum cost of production

(B} Minimum cost of transportation
(C) Minimum cost of labourers

(D) Minimum cost of power

TRC-13/14/ET-111 ' - 22
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45. Which one of the following is known as Europort ?
{A) London (B} Paris
(C) Rotterdam () Hamburg.
46. Great bitter, Little bitter and Timsa lakes are associated with @
(A} Panama canal (B) Suez canal
(C) Xeil canal .(D} (Grand canal
47. Who among the following gave Heartland theory 7
{A) Kjellen (B) M'ackmdgr
(C) Spykman | (D) G. Taylor
48. Which one of the follewing is nof related to the evolution of Frontier ?
(A) Physical limit of sovereignty
(B} Designated zone of influence of different physical phenomena
() Anthropological geographical .concept
(D) Political frontier
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49.

51.

52.

Which of the following countries celebrates Maitisong festival ?7

(A) Brazil (B) Singapore

(C) Portugal ’ (D) Botswana

“Morphology of Landscape” is written by :

(A) C.O. Sauer (B) Jean Brunhes

(C) H.R. Mill ; (D) Mark Jefferson

Which of the following is not associated with central place theory ?
(A) Primate city (B) Centrality

(C) Threshold (D) Range of central good

Which of the following was theory of regional development propounded by

Perroux ?
(A) Primate city (B) Growth center
(C) Growth pole (D) Rank size rule
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93.  Which of the following was not the basis of Resourece Development Regions

and Divisions of India given by V. Nath ?
‘(A) Population density (B) Physical factor
(C) Agricultural .Iandus‘e {D) Cropping pattern

54. Which of the following committee considered ‘Block’ as a relevant unit for

planning ?
(A) Ashok Mehta . (B) M.L. Dantwala
(C} N.N. Vohra (I}) B.N. Ganguli

th
.Ol

Which of the following committee was set up for recommending the fiscal

incentives for the.backw.ard area 7
(A) A.V. Srinivasan (B) KV. Sundaran
(C) N.N. Wanchoo (D) B.D. Pande

56. Town and Village Planning Organisation divided India into how many macro

and meso regions ?
(A) 13, 35 | (B). 14, 45

(€ 10, 25 ' M 8, 24
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57. Which one is not & iron and
{A) Bhilai
(C) Kalti

-~

58. Which one is not correct 7
(A) Maruti-Suzuki -
{(B) Hyundai —
(C). Nova Aﬁxbass'ador e

(D) Mitsubishi —

steel plant 7
(B) KXoraput

(D) Daitari

Gurgaon
Irrungattukottai
Pune

Chandigarh

59. Which is not correctly matched ?

(A) Sun coast o
(B) Casurina coast -—
(C) Monazite coast .

(1) Delta coast —

Orissa
Tamil Nadu
Kerala

Maharashtra

60. Which one is not correctly matched ?

(A) Spices s
(BY Coffee e
(C) Nut ' -

(I} Saffron —

TBC-13/14/ET-III

Kerala
Karnataka
Uttarakhand

Jammu and Kashmir
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61. Coromandal coast : Vegetation type is :

TBC-1314ET-111 32

(A) Wet deeiduous : (B) - Dry deciduous
| (C) Broad leaves evergreen . (D) Casurina
62. () Abundant iron
(@) Very fine and conipgct- pafticles
. (#ii) Deep eracks in dry season
Gu) Unfossilferus |
The above features belong to : |
(A) Rﬁd soil o (B) Black soil
(C) Alluvial soil W= (D) Laterite soil
63. Which one is not a river of Kmnauh-' Himalaya ?
" R . (B) Kali
(0 Dhauli Ganga | (D) Pindari
' $4.  Mateh the columns : |
Columns a Columns b
(¢) Bastar plateau (. Bengaluru
(b). Chhota Nagpur plateau (1) tndor.é
(c) Malwa plateau o (1) Jarhshedpur
() Malnad plate.au ('fv). ' Raipur
(a). )y - @ ‘(d)
(A () (i) @y WD
B © ‘ (it} (zir) (iv)
© @y G @ W
D) (@) Gy - ) G
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65. Who among the following first attempted to classify India into natural

regions ?
(A) S.P. Chatterjee (B) L. Dudley Stamp
(C) V. Nath : (D) P. Sen Gupta

66. Which line separates North Korea and South Korea 4
(A) 38th parallel line in north
(B) 36th parallel line in north
(C) 48th parallel line in north
(D) 46th parallel line in north
67. Which one of the. following is not associated with remote sensing ?
(A) Ground control point (GCP) (B) Vector
(C) Landsat (D) LLRS.
@8. Geographical information system (GIS) deals with :
(A) Global positioning system
(B) Air photo analysis
(C) Computer analysis of geographical data
(D) Digital image processing
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69. When was first remote sensing satellite launched ?

(A)

(C)

1962 (B} 1972

1982 ' D) 1992

70.  Which one of the following is not associated with graphic representation of

data 7

(A)
(B)
(C)

(D)

Histogram
Frequency polygon
Cumulative frequency curve

Regression

71. Types of landuse data of India for the ycar 2011 can be represented

by :

(A)

(C)

Pie diagram (B) | Ergograph

Bandcurve (D} Linegraph

79 Which one of the following is not an example of quantitative method 7

(A)
{B)
(C)

(D)

Dot method
Choropleth method

Chorochromatic method

Isopleth method
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73. Spacing of contour lines indicates :
{A) Presence of trees
(B) Depth of slopes
(C) Degree of slopes
(D) Direction of winds

"4 Which one of the following is not associated with measures of central

tendency 9
(A) Mode B Median
(C) Standard deviation (D) Mean
75. In statistics, a population consists of :
(A) All people living in a country
(B} All people living. in the area of stud3.r
(Cy  All subjects and ob.jects whoge characteristics are being studie'd

(D} All of the above
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